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w % (LA A What is the direction of
- N et the electric force on a

S—— negative test charge at

A RN N point 1?

L1 (21 1

1, l

3. l

4 —

9. The net electric force is zero at point 1

Rank the magnitude of
the electric field at
positions 1, 2, and 37

1. 1>2>3
[2]1<2<3
3. 2<1<3
A 1=«
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2<1<3 VN UGN
1=2<3
1>2=3
1=2=3

At which point, A or B, will the magnitude of the acceleration
of a negative test charge be greater if the charge is released
from rest, and which way will it go?

1-

3.
4
5.

y
A

— X
y
Z \

B E Field Lines

A and in the direction of the field lines.

. \A and opposite to the field line directions.
B and in the direction of the field lines.

B and opposite to the field line directions.
The accelerations are the same.
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A positive charge moving at constant velocity enters a
region with uniform electric field. Neglecting other forces,
the charge always will

Keep moving with a constant velocity. (
Speed up.
Slow down. @ R ( ‘
Move in a circle. (
None of the above. ‘ (

Mh LGN~

A negative charge, which is free to move, is released from
rest in an electric field. Neglect non-electrical forces. It will
always move to a position with:

! Ihlgher potential. /
lower potential.
3. Electric field with higher magnitude. o
4. Electric field with lower magnitude.
5. Larger electrical force. \
6.

Smaller electrical force.
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A charge is released from rest in an electric field. Neglect
non-electrical forces. Independently of the sign of the
charge, it will always move to a position :

1. With higher potential.
2. With lower potential.
3. Where it has higher potential energy.

‘Where it has lower potential energy.

Where the electric field has higher
maghnitude.

6. Where the electric field has lower
maghitude.

A proton is placed at position P on the x axis where the
potential is -10V. Which of the following statements is true?

&

-‘—----—----——----——15 -------------------------- »

1. The proton will move to the -x direction.
2. The proton will move to the +x direction.
3. The proton will not move at all.

The motion can not be predicted.
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A negative test charge Q = -0.6C was moved from point A to
point B In a uniform electric field E=5N/C. The test charge is at
rest before and after the move. The distance between A and
B is 0.5m and the line connecting A and B is perpendicular to
the electric field. How much work was done by the net external
force while moving the test charge from A to B?

Q)

A L
O_Sn] i 1L = J N/(
B

1. 1.5J

2 2. l 0J

3. -15J

4. 3.0J

5 =3.0J

After moving the -0.6C test charge from A to B, it was then
moved from B to C along the electric field line. The test charge
Is at rest before and after the move. The distance between B
and C also is 0.5m. How much work was done by the net
external force while moving the test charge from Ato C?

A @)
. F= °
o _ 5 N/C
[1) 15 B & ’ s
- F e 0°)
2. 0 = FA (o
3. _1.5 = % 4
4. 2.12) E=5N/C = (ol <) (g M) (0.5 )
5 —2.12J T
6. 3.0J - 15 T
7. -3.0J

New Section 1 Page 5



Instead of moving the test charge from Ato Bthento C, itis
moved from A to D and then back to C. The test charge is at
rest before and after the move. How much work was done by
the net external force while moving the test charge this time?

: T H0D  E=5NC

g 0.5m C -k
: éu'v" s =
!1.k15J gle Cor* ¢
5 0 % XS
. \(( N (V
—1.5J wof &

3
4. Infinitely big
5. Do not know at this time.

+1.5 J of work was done by the net external force while moving
the -0.6 C test charge from B to C. The test charge is at rest
before and after the move. What is the voltage difference
between B and C, and at which point is the voltage larger?

D E=5NC

g 0.5m bC " v, SV T r»\’\,:k‘s +

2.5V, voltage higher at B.
2.5V, voltage higher at C.
0.9 V, voltage higher at B. VERD)
0.9V, voltage higher at C.

{ouJﬁf

1.5V, voltage higher at B. S (63)
1.5V, voltage higher at C. - 1.5V

@F":’-“.‘*’!\-".—‘l
e
~
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The distance between two parallel plates is increased while
they remain hooked to a battery. \Which one of the
following statement is true?

— A —>
¥ 1. The voltage between the plates —
will decrease.  STays fue Sews

L 2. The electric field between the
plates will increase. & crees s be cndise

@ The charge on the plates will & decrese |l
decrease.

74. The capacitance of these two
plates will increase. € Jecrtases  boocewse e tacrceSas

5. None of the above.

Two parallel plates are charged to +Q and —Q using a battery,
and then the battery is removed. Subsequently, the distance
between these isolated plates is increased as shown. Which of

the following statement is true?

Q) [-Q

ZT’ The voltage between the plates || |[[777 g
will increase. H= C V4

K2, The electric field between the §

plates will decrease. £ s« ° " . H_2

3. The capacitance between the N
¥
plates will increase. ( fecreases Stww A TCTEESES

7(4. The charge on the plates will
decrease. & shuyy Mo scwa

5. None of the above.

Select the correct plots of E and V versus
distance between two parallel plates of a

capacitor: (The plates are 2 cm apart.)
) -
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Uistdiive pelweell Lwo pdidliiel pldiles vl d
capacitor: (The plates are 2 cm apart.) /_l| ||

1. 2. R 4.
— . P S 90 v
E ¢ E i E, :
. :——.:‘— :__h :
4500N/C 4500N/C
vii itV
—
;90\/

You move the north end of a magnet toward a loop as shown.
What will be the direction of the induced current viewed from
the meter side?

1. \ Clockwise
2. Counter Clockwise
3. No current
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Immediately after you close the switch, what will be the direction
of the induced current, again viewed from the meter side?

73
&

1

1. Clockwise ¢ o
@ Counter Clockwise A et
No current

Initially, the magnet and the loop are not moving. Then, the loop
starts to rotate around its center (denoted by the dotted line). The
rotation is clockwise when viewed from the magnet side. What
will be the direction of the induced current in the loop when

viewed from the magnet side?

1. Clockwise
2. Counter Clockwise
No current
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An ideal transformer is shown below. The voltage on the
primary circuit is 10V. The primary circuit has 4 turns, the
secondary circuit has 8 turns. What is the voltage on the
secondary circuit.

1. 5V -

2. 25V Primary Secondary
3. 10V

5. 40V

An ideal transformer is shown below. The current in the
primary circuit is 10mA. The primary circuit has 4 turns, the
secondary circuit has 8 turns. What is the current in the
secondary circuit.
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An ideal transformer (no power loss) is shown below. The
primary circuit has 4 turns, the secondary circuit has 8 turns.
What is the ratio of the power dissipated in the primary
circuit and the power dissipated in the secondary circuit?

ZZ?1:1

2. 12
3. 21
4. 14
5 41
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